N2

2yt (arﬂ.fjh (o) (i \S
M-AA J gl Jles
LAY T+ PR PO) | R 3bal 5o de 5 spess U
B> Ve gyl 0 sl 93T gled (AT ) — oSl 5L e y2e 10039 8 5 Shwasss 4z
O35 O ita 0,05 39057 —
FORRE Sl Kia L 13 ooz (V) S N3 g 5

Aoyl 5 o 5 4 & teulen 5 5 oty 4 ¢ RSG5 Coe !

8 Jalaa 1) iy
...\;\Ssgraliﬁ\ ad&uamcgu ajb LS‘J:‘ \JLT\MUAWJIAJAL:A

1. The appeal to natural harmony was metaphysical, for it offered no evidence of what natural order is.
eSS Salea o By o 8L .l

2. Incomes earned in producing goods for export are largely spent in the home market, thus giving a

boost to home demand.
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3. Aggregate supply, for the economy as a whole, was considered identical to aggregate demand.

4. Marshall was anxious to bring an element of supply and demand into the story of a growing
economy.
Sluas > d\)i'p z olgs o slidn .
5. He tried to squeeze these conceptions into the frame of equilibrium in a stationary state.
e eSS s <l .z [V Ol .
6. In a position of equilibrium, enough workers must have died off to make the remainder sufficiently
scarce today to command a living wage.

7. Veblen could make no headway against neoclassical metaphysics, and his protest has been swept

aside in the main stream of American economic teaching.

0 )\ asap




N2

2yt (arﬂ.fjh (o) (i \S
M-AA J gl Jles
LAY T+ PR PO) | R 3bal 5o de 5 spess U
B> Ve gyl 0 sl 93T gled (AT ) — oSl 5L e y2e 10039 8 5 Shwasss 4z
O35 O ita 0,05 39057 —
FORRE ol Kia L 13 ooz (V) S N3 g 5

8. The values of scarce commodities are determined simply by interaction of the fixed supply with

demand.
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9. Ricardo took it for granted that the share which the landlord took of the produce of the earth would

be saved and reinvested.
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10. It 1s not valid against a claim that the doctrine throws into clear light the action of one of the causes

that govern wages.
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11. The essential point is that there is substitution between factors of production on the supply side, as

well as substitution by consumers between commodities on the demand side.
loalauly 5 SEuS as e 2 OSSO yas o S S WSy )
12. We find that the greater part of the value of imports and exports offset each other.
225 Ol 2S5 Az R IRSIP e 535 il
13. They had left unsolved the old puzzle of the relation of value in use to value in exchange.
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14. Gross profits are called quasi-rents because a piece of equipment is fixed like an area of Ricardian
land.
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15. The continuum in which the abiding entity of capital resides is a continuity of ownership.
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21. He is able to afford spacious living quarters.
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22. They are thinking about more efficient ways of converting inputs into outputs.
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23. They speak some little-used languages in their country.
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24. To appreciate why, we need to take a deeper look into their history.
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25. They are looking for a buoyant sellers' market.
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26. Good planning is based on a comprehensive national income accounting.
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27. We have been experiencing short spells in unemployment in the past 20 years.
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28. A number of scrupulous economists have established this organization.
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29. There has been a sharp increase in the value of all oil-related commodities.
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30. The current market share does not satisfy the volume of our production.
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1. At the national level, there are also important economic choices to be made. For example, an increase in the
nation's military forces and weaponry might make the country more secure from attack. But the added military
spending might have to be obtained by cutting back on programs to inoculate children against disease and to
provide medical care to the aged. Better roads may entail worse libraries; more funds for health care may
means less for education. Even more broadly, actions to reduce price inflation may cause national output to fall

and unemployment to rise. (1.5 points)

2. Including leisure in GDP would have increased recorded GDP in both 1870 and 1990. Since the value of
leisure has probably increased less quickly than measured output, which increased nine-fold in the UK and 90-
fold in Japan over the same period, this would tend to reduce the rate of growth of a more comprehensive
output measure. Similarly, pollution may actually have increased at a faster rate. Hence it is possible that the
growth rates for GDP may overstate the rate at which economies have been increasing their net output of goods

and services with an economic value. (1.5 points)

3. Not surprisingly, Keynes became aware of the problem in a very early stage: the man who first grasped that
there was no reason at all why millions of individual investment and consumption decisions should
automatically lead to full employment within a country was hardly likely to miss the fact that there was no
reason at all why the millions of decisions which ultimately determine the amount of international liquidity
should automatically result in the creation of just enough to finance the optimum increase in world trade and

production. (2 points)
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